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‘ Show me some sample codes for handling endogenity issues

using R

1 copy code O] copy code

library(ivpack)
tslsreg < tsls(formula =Y ~ ¥ | Z. data = mvdata)

ivreg < ivrealformula =Y ~ ¥ | Z, data = mydata)
summary(tslsrea)

summary( ivreg)

In this example, Y is the outcome variable, X is the endogenous

. . . - variable, and Z is the instrument variable
In this example, Y is the outce rariable, X is the endogenous

variable, and Z is the instrument variable.
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# Libraries
library(tidyverse)
library(hrbrthemes)

# Load dataset from github

data <-
read.table("https://raw.githubusercontent.com/holtzy/data_to_viz/master/Example
header=TRUE)

# plot
p <- data %=%
filter( price<300 ) %>%
ggplot( aes(x=price)) +
geom_histogram( binwidth=3, fill="#69b3a2", color="#e%cet", alpha=0.9) +
ggtitle("Bin size = 3") +
theme_ipsum() +
theme(
plottitle = element_text(size=15)
)

#p

This code creates a histogram using the ggplot2 package in R. Here is a

breakdown of the code:

1. The libraries tidyverse and hrbrthemes are loaded.

?. The read.table() function is used to load the data from a CSV file hosted on

GitHub. The file contains a single variable called "price".

3. The data is filtered to only include observations where the price is less than

300.

1. The ggplot() function is used to create a ggplot object, with the price

variable mapped to the x-axis.

. The geom_histogram() function is used to add a histogram layer to the plot,

L

with a binwidth of 3, a fill color of "#69b3a2", a border color of "#e9ecef",

and an alpha value of 0.9.

5. The ggtitle() function is used to add a title to the plot.
7. The theme_ipsum() function is used to apply a custom theme to the plot.

. The theme() function is used to modify the plot title font size.
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‘ Add more the followings: | am sorry for the late reply. | am so busy. | will send

you in a few days.

| am sorry for the inconvenience caused by my delayed response. | understand

that your time is valuable and | apologize for any frustration or inconvenience
this may have caused you. Rest assured, | am committed to fulfilling my
obligations and | will make sure to send you the required information within
the next few days. Thank you for your understanding and patience in this

maftter.
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‘ | am talking about my late response letter to the editor of X journal. Corret

those you mentioned.

My apologies for the delayed response to your letter to the editor of X journal.

| understand that timely replies are important and | regret any inconvenience
this may have caused. Due to a high volume of work, | was unable to respond
promptly. However, | have now made it a priority to address your concerns and

| will send a reply within the next few days. Thank you for your patience and

understanding in this matter.
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‘ | am talking about my late response letter to the editor of X journal. Corret

those you mentioned.

My apologies for the delayed response to your letter to the editor of X journal.

| understand that timely replies are important and | regret any inconvenience
this may have caused. Due to a high volume of work, | was unable to respond
promptly. However, | have now made it a priority to address your concerns and

| will send a reply within the next few days. Thank you for your patience and

understanding in this matter.
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‘ Hey, what did the ghost say to the invisible man?

I'm not sure, what did the ghost say to the invisible man?

‘ long time no see.

Ah, | see! That's a clever play on words. "Long time no see" is a common
phrase used to greet someone whom you haven't seen in a long time, and it

sounds like a joke when said between a ghost and an invisible man. Thanks for

sharing!
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‘ Hey, what did the ghost say to the invisible man?

I'm not sure, what did the ghost say to the invisible man?

‘ long time no see.

Ah, | see! That's a clever play on words. "Long time no see" is a common
phrase used to greet someone whom you haven't seen in a long time, and it

sounds like a joke when said between a ghost and an invisible man. Thanks for

sharing!
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Fernandes, A. M., & Paunov, C. (2015). The risks of innovation: are innovating
firms less likely to die?. Review of Economics and Statistics, 97(3), 638-653.



Notwithstanding their benefits to the economy and
businesses, a substantial percentage of innovations
have failed in the marketplace (Mahajan et al., 2000).

Customer resistance to innovation is one of the primary
reasons why innovative products and services fail to
penetrate into a target market timely (Ram, 1989).

Focusing on innovations is to boost key values and/or
manufacturing efficiency and effectiveness (March, 1991).
These merits ought to promise the commercial success of
these technologies. Unfortunately, actual events contradict
this naive assumption.
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Journal Article

A study of more than 250 platforms a reveal
why most fail

David B. Yoffie, Annabelle Gawer and Michael A. Cusumano

Harvard Business Review;
29/05/2019;
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As an Al language model, | do not require any specific

adjustments to work well in a corporate organization. However,

there are some best practices that can help you make the

most of my capabilities:
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Davenport, T. H., & Mittal, N. (2023). Stop tinkering with Al.
Harvard Business Review, 101(1), 116-127.
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